T fE il A Bl % BN gie AT E i
T AR A = 1
FEE ) = 1
o B8 A ERBRER L
4 HEE A JREF P A 52. 52
B & & .
S=1/500 {E3HL @ 0. 103kni,
i & JREF P £ 1
XA = 1
XE A £ 1
e = 1
e
(R 3E%) £ 1
MV A
(EHERAE ) = 1
BoAR—V > = 1
B A—Y > 7 AWAT b 66mm KL vvh, FRAL
(LEAR—Y ) VEIESOMEASONLL T AL F A T ) m 375. 375
AR —Y 7 A-va7 ¢ 66mm W R L. AL
(LEAR—Y ) VEIESOEL T AL A AR T Jy m 42. 42
AR —Y 7 & 66mm A, FALIESOMEL T
CEAEAR—Y v ) AL PRI T ) m 18. 18
R —1 > 7 Jva7 ¢ 66mm AEPEL Vb, ZRFL
(LEAR—Y ) VEIESONELF AL A A0 T Jy m 147. 147
AR —Y 7 Jva7 b 66mm BT L, AL
(LEAR—Y ) VEIESOMSL T 2R L7 ISR T T 4 m 18. 18
YTy =, 1
YTV [EEL” AN -ty 7 5 A 15. 15
$TY T n-§) -2 N 6. 6
WAV AP NS 0
JEA AR = 1
YT 4
S OV A i R NG e ) [] 375. 375
YT 4
S OV A i R E AR - [] 42. 42
YT 4
S OV i 3 R N e [] 18. 18
PN HEEER = 1
ECoRmE )
TR DR 131 AR 24. 24
ECo R )
+ DG KRR 131 AR 21. 21
ECoRwE 3 3
T oRERER (1) LR (52 W &) AR 24. 24
EPLEHER )
T DR R R 15Uk ~6 55 AR 21. 21
EPLEHR )
- D VB R LR 1R AR 21. 21
EOEREE ) :
+ oI R TREE3(E AL AR 21. 21
EPLERR ) )
o FEERR EpEalr 15U a4 B 21. 21
FRAT SR TS
(EHEHR AL S)) = 1
FRAT SR BERHEERE D E 2D E3 1
fRNT SR B ifi [ 2 D AE Rk R 1

1/2




T f& (sl A Bl i3 HAL Kok BEiE 8= 1%
MR A
(EL TR A5)) 2y
JRAT S A A S oY
SR % A S BEAFEEL O - BLHiFH A £
SR % A S ERERLEVE LD E30]
SR % A S I i [ % D 1k E30
WEMITE D E Lo,
SR % A S 4~57fd E30

2/2




